

SUBORDINATION RESULTS FOR A CERTAIN SUBCLASS OF NON-BAZILEVIC ANALYTIC FUNCTIONS DEFINED BY LINEAR OPERATOR

Adnan G. Alamoush

Maslina Darus¹

*School of Mathematical Sciences
Faculty of Science and Technology
Universiti Kebangsaan Malaysia
43600 UKM Bangi Selangor
Malaysia
E-mails: adnan_omoush@yahoo.com
maslina@ukm.edu.my*

Abstract. In this work, by making use of the principle of subordination, we introduce a certain subclass of non-Bazilevic analytic functions defined by linear operator. Such results as subordination and superordination, sandwich theorem and inequality properties are given.

1. Introduction

Let A_s denote the class of the functions f of the form

$$(1) \quad f(z) = z + \sum_{n=s+1}^{\infty} a_n z^n, \quad (s \in \mathbb{N} = \{1, 2, 3, \dots\}),$$

which are analytic in the open unit disk $\mathbb{U} = \{z \in \mathbb{C} : |z| < 1\}$.

If $f(z)$ and $F(z)$ are analytic in \mathbb{U} . Then we say that the function $f(z)$ is subordinate to $F(z)$ in \mathbb{U} if there exists an analytic function $w(z)$ in \mathbb{U} such that $|w(z)| \leq 1$ and $f(z) = F(w(z))$, denoted by $f \prec F$ or $f(z) \prec F(z)$. Furthermore, if the function $F(z)$ is univalent in \mathbb{U} , then we have the following equivalence (see [10]):

$$f(z) \prec F(z) \Leftrightarrow f(0) = F(0) \quad \text{and} \quad f(\mathbb{U}) \subset F(\mathbb{U}).$$

Let $\psi : \mathbb{C}^2 \times \mathbb{U} \rightarrow \mathbb{C}$ and $h(z)$ be univalent in \mathbb{U} . If $p(z)$ is analytic in \mathbb{U} and satisfies the first order differential subordination:

$$(2) \quad \varphi(p(z), zp'(z); z) \prec h(z),$$

¹Corresponding author.

then $p(z)$ is a solution of the differential subordination (2). The univalent function $q(z)$ is called a dominant of the solutions of the differential subordination (2) if $p(z) \prec q(z)$ for all $p(z)$ satisfying (2). A univalent dominant \tilde{q} that satisfies $\tilde{q} \prec q$ for all dominants of (2) is called the best dominant. If $p(z)$ and $\varphi(p(z), zp'(z))$ are univalent in \mathbb{U} and if $p(z)$ satisfies first order differential superordination:

$$(3) \quad h(z) \prec \varphi(p(z), zp'(z); z),$$

then $p(z)$ is a solution of the differential superordination (3). An analytic function $q(z)$ is called a subordinated of the solutions of the differential superordination (3) if $q(z) \prec p(z)$ for all $p(z)$ satisfying (3). A univalent subordinated \tilde{q} that satisfies $q \prec \tilde{q}$ for all subordinants of (3) is called the best subordinated. For further properties of subordination and superordination, see [10] and [11].

For functions $f, g \in A_s$, where f is given by (1) and g is defined by $g(z) = z + \sum_{n=s+1}^{\infty} b_n z^n$, then the Hadamard product (or convolution) $f * g$ of the functions f and g is defined by

$$(f * g)(z) = f(z) * g(z) = z + \sum_{n=s+1}^{\infty} a_n b_n z^n.$$

For the functions $f, g \in A_s$, we define the linear operator $D_{\alpha, \beta, \lambda}^k : A_k \rightarrow A_k$ (for $k = 0, 1, 2, \dots$), $0 < \alpha \leq 1$, $0 < \beta \leq 1$, $\lambda \geq 0$, and $z \in \mathbb{U}$ by:

$$\begin{aligned} D_{\alpha, \beta, \lambda}^0(f * g)(z) &= (f * g)(z), \\ D_{\alpha, \beta, \lambda}^1(f * g)(z) &= D_{\alpha, \beta, \lambda}(f * g)(z) \\ &= [1 - \lambda(\alpha + \beta - 1)](f * g)(z) + z\lambda(\alpha + \beta - 1)[(f * g)(z)]' \\ &= z + \sum_{n=s+1}^{\infty} [\lambda(\alpha + \beta - 1)(n - 1) + 1] a_n b_n z^n, \end{aligned}$$

and (in general)

$$(4) \quad \begin{aligned} D_{\alpha, \beta, \lambda}^k(f * g)(z) &= D_{\alpha, \beta, \lambda}(D_{\alpha, \beta, \lambda}^{k-1}(f * g)(z)) \\ &= z + \sum_{n=s+1}^{\infty} [\lambda(\alpha + \beta - 1)(n - 1) + 1]^k a_n b_n z^n, \quad (\lambda \geq 0). \end{aligned}$$

Using (4), it is easy to verify that

$$(5) \quad \begin{aligned} &\lambda(\alpha + \beta - 1)z[D_{\alpha, \beta, \lambda}^k(f * g)(z)]' \\ &= D_{\alpha, \beta, \lambda}^{k+1}(f * g)(z) + [1 - \lambda(\alpha + \beta - 1)]D_{\alpha, \beta, \lambda}^k(f * g)(z). \end{aligned}$$

Remark 1. For $b_n = C(\delta, n)$, the operator $D_{\alpha, \beta, \lambda}^k(f * g)(z)$ extends to $D_{\alpha, \beta, \delta, \lambda}^k f(z)$, where the operator $D_{\alpha, \beta, \delta, \lambda}^k f(z)$ was introduced and studied by Alamoush and Darus, which generalizes many other operators (see [1]), where

$$C(\delta, n) = \binom{n + \delta - 1}{\delta}.$$

Definition 1. A function $f \in A_s$ is said to be in the class $N_{\alpha,\beta,\lambda}^k(g, \rho, \mu; A, B)$ if it satisfies the following subordination condition:

$$(6) \quad (1 + \rho) \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu - \rho \frac{D_{\alpha,\beta,\lambda}^{k+1}(f * g)(z)}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu \prec \frac{1 + Az}{1 + Bz},$$

where ($g \in A_s, \rho \in \mathbb{C}, 0 < \mu < 1, -1 \leq B < A \leq 1, A \neq B, A \in \mathbb{R}$, and $D_{\alpha,\beta,\lambda}^k f(z)$ as defined on (4)). Here all the powers are the principal values.

Furthermore, the function $f \in N_{\alpha,\beta,\lambda}^k(g, \rho, \mu; \varpi)$ if and only if $f, g \in A_s$ and

$$Re \left\{ (1 + \rho) \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu - \rho \frac{D_{\alpha,\beta,\lambda}^{k+1}(f * g)(z)}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu \right\} > \varpi,$$

where ($0 \leq \varpi < 1; z \in \mathbb{U}$).

We note that:

If $k = 0$, and $b_n = 1$, then the class $N_{\alpha,\beta,\lambda}^k(g, \rho, \mu; A, B)$ reduces to the class $N(\rho, \mu; A, B)$ which is defined by Wang et al. at [5]. If $k = 0, \rho = -1, n = 1, A = 1, B = -1$ and $b_n = 1$, then the class $N_{\alpha,\beta,\lambda}^k(g, \rho, \mu; A, B)$ reduces to the class of non-Bazilevic functions which introduced by Obradovic [13]. If $k = 0, \rho = -1, n = 1, A = 1 - 2\varpi, B = -1$ and $b_n = 1$, then the class $N_{\alpha,\beta,\lambda}^k(g, \rho, \mu; A, B)$ reduces to the class of non-Bazilevic functions of order $\varpi (0 \leq \varpi < 1)$ which was given by Tuneski and Darus [12]. Other works related to non-Bazilevic can be found in ([2]-[7]).

In the present paper, we discuss and prove the subordination and superordination properties, sandwich theorem and inequality properties for the class $N_{\alpha,\beta,\lambda}^k(g, \rho, \mu; A, B)$.

2. Preliminary results

In order to establish our main results, we need the following definition and lemmas.

Definition 2. [9]. Denote by Q the set of all functions f that are analytic and injective on $\overline{\mathbb{U}} \setminus E(f)$, where

$$E(f) = \left\{ \zeta \in \partial\mathbb{U} : \lim_{z \rightarrow \zeta} f(z) = \infty \right\},$$

and such that $f'(\zeta) \neq 0$ for $\zeta \in \overline{\mathbb{U}} \setminus E(f)$

Lemma 1. [10] Let the function $h(z)$ be analytic and convex (univalent) in \mathbb{U} with $h(0) = 1$. Suppose also that the function $g(z)$ given by

$$(7) \quad g(z) = 1 + c_k z^k + c_{k+1} z^{k+1} + \dots$$

is analytic in \mathbb{U} . If

$$(8) \quad g(z) + \frac{zg'(z)}{\gamma} \prec h(z), \quad (\operatorname{Re}(\gamma) > 0; \gamma \neq 0; z \in \mathbb{U}),$$

then

$$g(z) \prec q(z) = \frac{\gamma}{k} z^{-\frac{\gamma}{k}} \int h(t) t^{\frac{\gamma}{k}-1} dt \prec h(z),$$

and $q(z)$ is the best dominant of (8).

Lemma 2. [8] Let $q(z)$ be a convex univalent function in \mathbb{U} and let $\sigma \in \mathbb{C}$, $\eta \in \mathbb{C}^* = \mathbb{C} \setminus \{0\}$ with

$$\operatorname{Re} \left(1 + \frac{zq''(z)}{q(z)} \right) > \max \left\{ 0, -\operatorname{Re} \left(\frac{\sigma}{\eta} \right) \right\}.$$

If the function $g(z)$ is analytic in \mathbb{U} and

$$\sigma g(z) + \eta z g'(z) \prec \sigma q(z) + \eta z q'(z),$$

then $g(z) \prec q(z)$ and $q(z)$ is the best dominant.

Lemma 3. [9] Let $q(z)$ be a convex univalent function in \mathbb{U} and let $k \in \mathbb{C}$. Further assume that $\operatorname{Re}(k) > 0$. If

$$g(z) \in H[q(0), 1] \cap Q,$$

and

$$g(z) + kzg'(z)$$

is univalent in \mathbb{U} , then

$$q(z) + kzq'(z) \prec g(z) + kzg'(z),$$

implies $q(z) \prec g(z)$ and $q(z)$ and q is the best subdominant.

Lemma 4. [14] Let F be analytic and convex in \mathbb{U} . If

$$f, g \in A \quad \text{and} \quad f, g \prec F$$

then

$$\lambda f + (1 - \lambda)g \prec F, \quad (0 \leq \lambda \leq 1).$$

Lemma 5. [15] Let

$$f(z) = 1 + \sum_{n=1}^{\infty} a_n z^n$$

be analytic in U and

$$g(z) = 1 + \sum_{n=1}^{\infty} b_n z^n$$

be analytic and convex in U . If $f(z) \prec g(z)$, then

$$|a_n| < |b_n| \quad (n \in \mathbb{N}).$$

3. Main results

We begin by presenting our first subordination property given by Theorem 1.

Theorem 1. For $g \in A_s$, $\rho \in \mathbb{C}$, $0 < \mu < 1$, $-1 \leq B < A \leq 1$, $A \neq B$, $A \in \mathbb{R}$, and $D_{\alpha,\beta,\lambda}^k(f * g)$ as defined by (4). Let $f(z) \in N_{\alpha,\beta,\lambda}^k(g, \rho, \mu; A, B)$ with $Re(\rho) > 0$. Then

$$(9) \quad \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu \prec q(z) \\ = \frac{\mu}{\lambda(\alpha + \beta - 1)s\rho} \int_0^1 u^{\lambda(\alpha+\beta-1)s\rho-1} \frac{1 + Azu}{1 + Bzu} du \prec \frac{1 + Az}{1 + Bz}$$

and $q(z)$ is the best dominant.

Proof. Define the function $g(z)$ by

$$(10) \quad g(z) = \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu \quad (z \in \mathbb{U}).$$

Then $g(z)$ is of the form (7) and analytic in \mathbb{U} with $g(0) = 1$. Taking logarithmic differentiation of (10) with respect to z and using (5), we deduce that

$$(11) \quad (1 + \rho) \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu - \rho \frac{D_{\alpha,\beta,\lambda}^{k+1}(f * g)(z)}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu \\ = g(z) + \frac{\lambda(\alpha + \beta - 1)\rho}{\mu} z g'(z).$$

Since $f(z) \in N_{\alpha,\beta,\lambda}^k(g, \rho, \mu; A, B)$, we have

$$g(z) + \frac{\lambda(\alpha + \beta - 1)\rho}{\mu} z g'(z) \prec \frac{1 + Az}{1 + Bz}.$$

Applying Lemma 1 to (11) with $\gamma = \frac{\mu}{\lambda(\alpha + \beta - 1)\rho}$, we get

$$(12) \quad \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu \prec q(z) = \frac{\mu}{\lambda(\alpha + \beta - 1)s\rho} z^{-\frac{\mu}{\lambda(\alpha+\beta-1)s\rho}} \int_z^1 t^{\lambda(\alpha+\beta-1)s\rho-1} \frac{1 + At}{1 + Bt} dt \\ = \frac{\mu}{\lambda(\alpha + \beta - 1)s\rho} \int_0^1 u^{\lambda(\alpha+\beta-1)s\rho-1} \frac{1 + Azu}{1 + Bzu} du \prec \frac{1 + Az}{1 + Bz},$$

and $q(z)$ is the best dominant. The proof of Theorem 1 is thus complete. ■

Theorem 2. Let $q(z)$ be univalent in \mathbb{U} , $\rho \in \mathbb{C}^*$. Suppose also that $q(z)$ satisfies the following inequality:

$$(13) \quad \operatorname{Re} \left(1 + \frac{zq''(z)}{q(z)} \right) > \max \left\{ 0, -\operatorname{Re} \left(\frac{\mu}{\lambda(\alpha + \beta - 1)\rho} \right) \right\}.$$

If $f \in A_s$ satisfies the following subordination condition:

$$(14) \quad (1 + \rho) \left(\frac{z}{D_{\alpha, \beta, \lambda}^k(f * g)(z)} \right)^\mu - \rho \frac{D_{\alpha, \beta, \lambda}^{k+1}(f * g)(z)}{D_{\alpha, \beta, \lambda}^k(f * g)(z)} \left(\frac{z}{D_{\alpha, \beta, \lambda}^k(f * g)(z)} \right)^\mu \\ \prec q(z) + \frac{\lambda(\alpha + \beta - 1)\rho}{\mu} zq'(z),$$

then

$$\left(\frac{z}{D_{\alpha, \beta, \lambda}^k(f * g)(z)} \right)^\mu \prec q(z)$$

and $q(z)$ is the best dominant.

Proof. Let the function $g(z)$ be defined by (10). We know that (11) holds true. Combining (11) and (14), we find that

$$(15) \quad g(z) + \frac{\lambda(\alpha + \beta - 1)\rho}{\mu} zg'(z) \prec q(z) + \frac{\lambda(\alpha + \beta - 1)\rho}{\mu} zq'(z).$$

By using Lemma 2 and (15), we easily get the assertion of Theorem 2. ■

Taking $q(z) = \frac{1 + Az}{1 + Bz}$ in Theorem 2, we get the following result.

Corollary 1. Let $\rho \in \mathbb{C}$ and $-1 \leq B < A \leq 1$. Suppose also that

$$\operatorname{Re} \left(\frac{1 - Bz}{1 + Bz} \right) > \max \left\{ 0, -\operatorname{Re} \left(\frac{\mu}{\lambda(\alpha + \beta - 1)\rho} \right) \right\}.$$

If $f \in A_s$ satisfies the following subordination:

$$(1 + \rho) \left(\frac{z}{D_{\alpha, \beta, \lambda}^k(f * g)(z)} \right)^\mu - \rho \frac{D_{\alpha, \beta, \lambda}^{k+1}(f * g)(z)}{D_{\alpha, \beta, \lambda}^k(f * g)(z)} \left(\frac{z}{D_{\alpha, \beta, \lambda}^k(f * g)(z)} \right)^\mu \\ \prec \frac{1 + Az}{1 + Bz} + \frac{\lambda(\alpha + \beta - 1)\rho(A - B)z}{\mu(1 + Bz)^2},$$

then

$$\left(\frac{z}{D_{\alpha, \beta, \lambda}^k(f * g)(z)} \right)^\mu \prec \frac{1 + Az}{1 + Bz},$$

and the function $\frac{1 + Az}{1 + Bz}$ is the best dominant.

Now, by making use of Lemma 3, we now derive the following superordination result.

Theorem 3. *Let $q(z)$ be convex univalent in \mathbb{U} , $\rho \in \mathbb{C}$ with $Re(\rho) > 0$. Also let*

$$\left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu \in H[q(0), 1] \cap Q$$

and

$$(1 + \rho) \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu - \rho \frac{D_{\alpha,\beta,\lambda}^{k+1}(f * g)(z)}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu$$

be univalent in \mathbb{U} . If $f \in A_s$ satisfies the following superordination:

$$q(z) + \frac{\lambda(\alpha + \beta - 1)\rho}{\mu} zq'(z) \prec (1 + \rho) \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu - \rho \frac{D_{\alpha,\beta,\lambda}^{k+1}(f * g)(z)}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu,$$

then

$$q(z) \prec \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu$$

and the function $q(z)$ is the best subordinant.

Proof. Let the function $g(z)$ be defined by (10). Then

$$q(z) + \frac{\lambda(\alpha + \beta - 1)\rho}{\mu} zq'(z) \prec (1 + \rho) \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu - \rho \frac{D_{\alpha,\beta,\lambda}^{k+1}(f * g)(z)}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu = g(z) + \frac{\lambda(\alpha + \beta - 1)\rho}{\mu} zg'(z).$$

An application of Lemma 3 yields the assertion of Theorem 3.

Taking $q(z) = \frac{1 + Az}{1 + Bz}$ in Theorem 3, we get the following result.

Corollary 2. *Let $\rho \in \mathbb{C}$ and $-1 \leq B < A \leq 1$ with $Re(\rho) > 0$. Suppose also that*

$$\left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu \in H[q(0), 1] \cap Q,$$

and

$$(1 + \rho) \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu - \rho \frac{D_{\alpha,\beta,\lambda}^{k+1}(f * g)(z)}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu$$

be univalent in \mathbb{U} . If $f \in A_s$ satisfies the following superordination:

$$\frac{1 + Az}{1 + Bz} + \frac{\lambda(\alpha + \beta - 1)\rho}{\mu} \frac{(A - B)z}{(1 + Bz)^2} \prec (1 + \rho) \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu - \rho \frac{D_{\alpha,\beta,\lambda}^{k+1}(f * g)(z)}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu,$$

then

$$\frac{1 + Az}{1 + Bz} \prec \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu$$

and the function $\frac{1 + Az}{1 + Bz}$ is the best subordinated.

Combining Theorems 2 and 3, we easily get the following ‘‘Sandwich-type result’’.

Theorem 4. Let q_1 be convex univalent and let q_2 be univalent in \mathbb{U} , $\rho \in \mathbb{C}$ with $Re(\rho) > 0$. Let q_2 satisfies (13). If

$$\left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu \in H[q_1(0), 1] \cap Q$$

and

$$(1 + \rho) \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu - \rho \frac{D_{\alpha,\beta,\lambda}^{k+1}(f * g)(z)}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu$$

be univalent in \mathbb{U} , also

$$q_1(z) + \frac{\lambda(\alpha + \beta - 1)\rho}{\mu} zq_1'(z) \prec (1 + \rho) \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu - \rho \frac{D_{\alpha,\beta,\lambda}^{k+1}(f * g)(z)}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu = q_2(z) + \frac{\lambda(\alpha + \beta - 1)\rho}{\mu} zq_2'(z),$$

then

$$q_1(z) \prec \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu \prec q_2(z).$$

and $q_1(z)$ and $q_2(z)$ are, respectively, the best subordinated and dominant.

Next, we consider the following:

Theorem 5. If $\rho > 0$ and $f \in N_{\alpha,\beta,\lambda}^k(g, \mu, \varpi)$ ($0 \leq \varpi < 1$), then $f \in N_{\alpha,\beta,\lambda}^k(g, \rho, \mu; \varpi)$ for $|z| < R$, where

$$(16) \quad R = \left(\sqrt{\left(\frac{\lambda(\alpha + \beta - 1)s\rho}{\mu} \right)^2 + 1} - \frac{\lambda(\alpha + \beta - 1)s\rho}{\mu} \right)^{\frac{1}{s}}.$$

The bound R is the best possible.

Proof. We begin by writing

$$(17) \quad \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu = \varpi + (1 - \varpi)g(z) \quad (z \in \mathbb{U}, 0 \leq \varpi < 1).$$

Then, clearly, the function $g(z)$ is of the form (7), is analytic and has a positive real part in \mathbb{U} . By taking the derivatives of both sides of (17), we get

$$(18) \quad \begin{aligned} & \frac{1}{1 - \varpi} \left\{ (1 + \rho) \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu - \rho \frac{D_{\alpha,\beta,\lambda}^{k+1}(f * g)(z)}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu - \varpi \right\} \\ & = g(z) + \frac{\lambda(\alpha + \beta - 1)\rho}{\mu} z g'(z). \end{aligned}$$

By making use of the following well-known estimate (see [16], Theorem 1):

$$\frac{|z g'(z)|}{\operatorname{Re} \{g(z)\}} \leq \frac{2sr^s}{1 - 2r^{2s}} \quad (|z| = r < 1)$$

in (18), we obtain

$$(19) \quad \begin{aligned} & \operatorname{Re} \left(\frac{1}{1 - \varpi} \left\{ (1 + \rho) \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu - \rho \frac{D_{\alpha,\beta,\lambda}^{k+1}(f * g)(z)}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu - \varpi \right\} \right) \\ & \geq \operatorname{Re} \{g(z)\} \left(1 - \frac{2\lambda(\alpha + \beta - 1)\rho sr^s}{\mu(1 - r^{2s})} \right). \end{aligned}$$

It is seen that the right-hand side of (19) is positive, provided that $r < R$, where R is given by (16). In order to show that the bound R is the best possible, we consider the function $f(z) \in A_s$ defined by

$$\left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu = \varpi + (1 - \varpi) \frac{1 + z^s}{1 - z^s} \quad (z \in U, 0 \leq \varpi < 1).$$

Noting that

$$\begin{aligned} & \frac{1}{1 - \varpi} \left\{ (1 + \rho) \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu - \rho \frac{D_{\alpha,\beta,\lambda}^{k+1}(f * g)(z)}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu - \varpi \right\} \\ & = \frac{1 + z^s}{1 - z^s} + \frac{2\lambda(\alpha + \beta - 1)\rho s z^s}{\mu(1 - z^s)^2} = 0 \end{aligned}$$

for $|z| = R$, we conclude that the bound is the best possible. Theorem 5 is thus proved.

Now, we give the inclusion properties:

Theorem 6. *Let $\rho_2 \geq \rho_1 \geq 0$ and $-1 \leq B_1 \leq B_2 < A_2 \leq A_1 \leq 1$. Then*

$$(20) \quad N_{\alpha,\beta,\lambda}^k(g, \rho_2, \mu; A_2, B_2) \subset N_{\alpha,\beta,\lambda}^k(g, \rho_1, \mu; A_1, B_1).$$

Proof. Let $f \in N_{\alpha,\beta,\lambda}^k(g, \rho_2, \mu; A_2, B_2)$. Then we have

$$(1+\rho_2) \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu - \rho_2 \frac{D_{\alpha,\beta,\lambda}^{k+1}(f * g)(z)}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu \prec \frac{1 + A_2 z}{1 + B_2 z}.$$

Since $-1 \leq B_1 \leq B_2 < A_2 \leq A_1 \leq 1$, we easily find that

$$(21) \quad \begin{aligned} (1 + \rho_2) \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu - \rho_2 \frac{D_{\alpha,\beta,\lambda}^{k+1}(f * g)(z)}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu \\ \prec \frac{1 + A_2 z}{1 + B_2 z} \prec \frac{1 + A_1 z}{1 + B_1 z}, \end{aligned}$$

that is $f \in N_{\alpha,\beta,\lambda}^k(g, \rho_2, \mu; A_1, B_1)$. Thus the assertion of Theorem 6 holds for $\rho_2 = \rho_1 \geq 0$. If $\rho_2 > \rho_1 \geq 0$, by Theorem 1 and (21), we know that $f \in N_{\alpha,\beta,\lambda}^k(g, 0, \mu; A_1, B_1)$, that is,

$$(22) \quad \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu \prec \frac{1 + A_1 z}{1 + B_1 z}.$$

At the same time, we have

$$(23) \quad \begin{aligned} (1 + \rho_1) \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu - \rho_1 \frac{D_{\alpha,\beta,\lambda}^{k+1}(f * g)(z)}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu \\ = \left(1 - \frac{\rho_1}{\rho_2} \right) \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu \\ + \frac{\rho_1}{\rho_2} \left[(1 + \rho_2) \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu - \rho_2 \frac{D_{\alpha,\beta,\lambda}^{k+1}(f * g)(z)}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu \right]. \end{aligned}$$

Moreover, since $0 \leq \frac{\rho_1}{\rho_2} < 1$ and the function $\frac{1 + A_1 z}{1 + B_1 z}$ ($-1 \leq B_1 < A_1 \leq 1$) is analytic and convex in \mathbb{U} . Combining (21)-(23) and Lemma 4, we find that

$$(1+\rho_1) \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu - \rho_1 \frac{D_{\alpha,\beta,\lambda}^{k+1}(f * g)(z)}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu \prec \frac{1 + A_1 z}{1 + B_1 z},$$

that is $f \in N_{\alpha,\beta,\lambda}^k(g, \rho_1, \mu; A_1, B_1)$, which implies that the assertion (20) of Theorem 6 holds.

Theorem 7. Let $f \in N_{\alpha,\beta,\lambda}^k(g, \rho, \mu; A, B)$ with $\rho > 0$ and $-1 \leq B < A \leq 1$. Then

$$(24) \quad \frac{\mu}{\lambda(\alpha + \beta - 1)s\rho} \int_0^1 u^{\frac{\mu}{\lambda(\alpha+\beta-1)s\rho}-1} \frac{1 - Au}{1 - Bu} du < \Re \left\{ \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu \right\} < \frac{\mu}{\lambda(\alpha + \beta - 1)s\rho} \int_0^1 u^{\frac{\mu}{\lambda(\alpha+\beta-1)s\rho}-1} \frac{1 + Au}{1 + Bu} du.$$

The extremal function of (24) is defined by

$$(25) \quad F(z) = D_{\alpha,\beta,\lambda}^k(f * g)(z) = z \left(\frac{\mu}{\lambda(\alpha + \beta - 1)s\rho} \int_0^1 u^{\frac{\mu}{\lambda(\alpha+\beta-1)s\rho}-1} \frac{1 + Auz^s}{1 + Buz^s} du \right)^{\frac{-1}{\mu}}.$$

Proof. Let $f \in N_{\alpha,\beta,\lambda}^k(g, \rho, \mu; A, B)$ with $\rho > 0$. From Theorem 1, we know that (9) holds, which implies that

$$(26) \quad \Re \left\{ \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu \right\} < \sup_{z \in U} \Re \left\{ \frac{\mu}{\lambda(\alpha + \beta - 1)s\rho} \int_0^1 u^{\frac{\mu}{\lambda(\alpha+\beta-1)s\rho}-1} \frac{1 + Auz}{1 + Buz} du \right\} \leq \frac{\mu}{\lambda(\alpha + \beta - 1)s\rho} \int_0^1 u^{\frac{\mu}{\lambda(\alpha+\beta-1)s\rho}-1} \sup_{z \in U} \left(\frac{1 + Auz}{1 + Buz} \right) du < \frac{\mu}{\lambda(\alpha + \beta - 1)s\rho} \int_0^1 u^{\frac{\mu}{\lambda(\alpha+\beta-1)s\rho}-1} \frac{1 + Au}{1 + Bu} du$$

and

$$(27) \quad \Re \left\{ \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu \right\} > \inf_{z \in U} \Re \left\{ \frac{\mu}{\lambda(\alpha + \beta - 1)s\rho} \int_0^1 u^{\frac{\mu}{\lambda(\alpha+\beta-1)s\rho}-1} \frac{1 + Auz}{1 + Buz} du \right\} \geq \frac{\mu}{\lambda(\alpha + \beta - 1)s\rho} \int_0^1 u^{\frac{\mu}{\lambda(\alpha+\beta-1)s\rho}-1} \inf_{z \in U} \left(\frac{1 + Auz}{1 + Buz} \right) du > \frac{\mu}{\lambda(\alpha + \beta - 1)s\rho} \int_0^1 u^{\frac{\mu}{\lambda(\alpha+\beta-1)s\rho}-1} \frac{1 - Au}{1 - Bu} du.$$

Combining (26) and (27), we get (24). By noting that the function $F(z)$ defined by (25) belongs to the class $N_{\alpha,\beta,\lambda}^k(g, \rho, \mu; A, B)$, we obtain that equality (24) is sharp. The proof of Theorem 7 is evidently complete. ■

Similarly, by applying the method of proof of Theorem 7, we easily get the following result.

Corollary 3. Let $f \in N_{\alpha,\beta,\lambda}^k(g, \rho, \mu; A, B)$ with $\rho > 0$ and $-1 \leq B < A \leq 1$. Then

$$\begin{aligned}
 & \frac{\mu}{\lambda(\alpha + \beta - 1)s\rho} \int_0^1 u^{\frac{\mu}{\lambda(\alpha+\beta-1)s\rho}-1} \frac{1+Au}{1+Bu} du \\
 (28) \quad & < \Re \left\{ \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu \right\} \\
 & < \frac{\mu}{\lambda(\alpha + \beta - 1)s\rho} \int_0^1 u^{\frac{\mu}{\lambda(\alpha+\beta-1)s\rho}-1} \frac{1-Au}{1-Bu} du.
 \end{aligned}$$

The extremal function of (28) is defined by (25).

Theorem 8. Let

$$(29) \quad f(z) = z + \sum_{n=s+1}^{\infty} a_n z^n \in N_{\alpha,\beta,\lambda}^k(g, \rho, \mu; A, B), \quad (s \in \mathbb{N} = \{1, 2, 3, \dots\}).$$

Then

$$(30) \quad |a_{s+1}| \leq [\lambda(\alpha + \beta - 1) + 1]^{-k} \frac{(A - B)}{|\mu + \lambda(\alpha + \beta - 1)\rho| |b_{s+1}|}.$$

The inequality (30) is sharp, with the extremal function defined by (25).

Proof. Combining (6) and (29), we obtain

$$\begin{aligned}
 (31) \quad & (1 + \rho) \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu - \rho \frac{D_{\alpha,\beta,\lambda}^{k+1}(f * g)(z)}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \left(\frac{z}{D_{\alpha,\beta,\lambda}^k(f * g)(z)} \right)^\mu \\
 & = 1 + (\mu + \lambda(\alpha + \beta - 1)\rho) [\lambda(\alpha + \beta - 1) + 1]^k a_{s+1} b_{s+1} z + \dots \prec \frac{1 + Az}{1 + Bz}.
 \end{aligned}$$

An application of Lemma 5 to (31) yields

$$(32) \quad \left| (\mu + \lambda(\alpha + \beta - 1)\rho) [\lambda(\alpha + \beta - 1) + 1]^k a_{s+1} b_{s+1} \right| < A - B.$$

Thus, from (32), we easily arrive at (30) asserted by Theorem 8. ■

Acknowledgements. The authors would like to acknowledge and appreciate the financial support received from Universiti Kebangsaan Malaysia under the grant: AP-2013-009.

References

- [1] ALAMOUSH, A., DARUS, M., *New criteria for certain classes containing generalised differential operator*, Journal of Quality Measurement and Analysis, 9 (2) (2013), 59-71.
- [2] ALAMOUSH, A., DARUS, M., *On certain class of non-Bazilevic functions of order $\alpha + i\beta$ defined by a differential subordination*, International Journal of Differential Equations, Volume 2014, Article ID 458090, 6 pages.
- [3] IBRAHIM, R.W., DARUS, M., TUNESKI, N., (2010), *On subordination for classes of non-Bazilevic type*, Annales Universitatis Mariae Curie-Sklodowska Lublin-Polonia A, 64 (2) (2010), 49-60.
- [4] AUOF, M.K., MOSTAFA, A.O., *Subordination results for a class of multivalent non-Bazilevic analytic functions defined by linear operator*, Acta Universitatis Apulensis, (2012), 307-320.
- [5] WANG, Z., GAO, C., LIAO, M., *On certain generalized class of non-Bazilevic functions*, Acta Math. Acad. Paed. Nyireyháziensis, 21 (2005), 147-154.
- [6] GOYAL, S.P., RAKESH, K., *Subordination and superordination results of non-Bazilevic functions involving Dziok-Srivastava operator*, Int. J. Open Problems Complex Analysis, 2 (1) (2010), 39-52.
- [7] SHANMUGAM, T.N., SIVASUBRAMANIAN, S., DARUS, M., KAVITHA, S., *On sandwich theorems for certain subclasses of non-Bazilevic functions involving Cho-Kim transformation*, Complex Variables and Elliptic Equations, 52 (10-11) (2007), 1017-1028.
- [8] SHANMUGAM, T. N., RAVICHANDRAN, V., SIVASUBRAMANIAN, S., *Differential sandwich theorems for subclasses of analytic functions*, Austr. J. Math. Anal. Appl., 3 (2006), 1-11.
- [9] MILLER, S.S., MOCANU, P.T., *Subordinants of differential superordinations*, Complex Var., 48 (2003), 815-826.
- [10] MILLER, S.S., MOCANU, P.T., *Differential subordinations theory and its applications*, Marcel Dekker Inc. New York, Basel, 2000.
- [11] BULBOACA, T., *Differential Subordinations and Superordinations*, Recent Results, House of Scientific Book Publ., Cluj-Napoca, 2005.
- [12] TUNESKI, N., DARUS, M., (2002), *Fekete-Szegő functional for non-Bazilevic functions*, Acta Math. Acad. Paed. Nyiregyháziensis, 18 (2002), 63-65.
- [13] OBRADOVIC, M., (1998), *A class of univalent functions*, Hokkaido Math. J., 27 (2) (1998), 329-335.

- [14] LIU, M.S., *On certain subclass of analytic functions*, J. South China Normal Univ., 4 (2002), 15-20 (in Chinese).
- [15] ROGOSINSKI, W., *On the coefficients of subordinate functions*, Proc. London Math. Soc., (Ser. 2), 48 (1943), 48-82.
- [16] BERNARDI, S.D., *New distortion theorems for functions of positive real part and applications to the partial sums of univalent convex functions*, Proc. Amer. Math. Soc., 45 (1) (1974), 113-118.

Accepted: 23.01.2015